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A § e

M Choose the correct answer froma, b,cord: _
BN I'mlooking formy ... .lcan't find them.

(@) keys (b) camera (c) bag (d) pen
PAHe ... any perfume.

(@)doesn't have (b) don't have (c) have (d) has
EN Don't.......... litter ! Use the bin.

@ play (b) make (c)drop (d) want
3 Heneeds ... to brush his teeth.

(@) shampoo (b) toothpaste (c) sunscreen (d) soap
E) .. isthecandy?-It’sinaisle 1.

(@) How (b) When (c)What (d)Where
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80
M Choose the correct answer froma, b,cord: s
2
BB 32 =
6 10 17 6
@& ®12 GL: @L
Which of the following numbers lies between 0.3 and 0.4 ?
@0.13 (©)0.43 ©0.2 @0.39
% . s
B 2 =5
@12 ®3 ©18 @8
3 Sixty and six tenths = oo,
@)16.6 [©)6.6 (© 606 d)61.6
ﬂ 0.4 4 -vveeeriremnrinnn =1
@14 [© 0.6 ©0.4 @ 0.1
I} The value of 7 in the number 35.474 is oo
7 g
@7 10 €% D00
B o e smspm e
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4 11 13 11
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L AGLMORSSCR T ] BN P | 4

AT eEXAdIm-€4. cOT



oIl 4 @ nli 1 @3qol

40

A Choose the correct answer froma, b,cord: -
ER The small intestine is an organ that belongstothe .. system.

(a) digestive (b) respiratory

() nervous (d) urinary
A All the following answers are produced during respiration process except ... ..

(@) energy. (b) water vapour.

(c) oxygen. (d) carbon dioxide.
ED Esophagus is the organ that allows food to pass from ... .

(@) mouth to pharynx. (b) mouth to small intestine.

(©) pharynx to stomach. (d) stomach to small intestine.

K3 The noseis lined with ...
(@) mucous layer only.
(b) blood capillaries only.
(c) mucous layer and blood capillaries only.

(d) hair, mucous layer and blood capillaries.
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A § e
M Choose the correct answer froma, b,cord: _
BB Al ... some shampoo.
(@) has (b) have ©is (d) was
3 This toothpaste is three pounds. It's ... .. .
(@ late (b) mess (©) cheap (d) hard
El We're ... , please hurry.
(@) late (b) fat (c)good (d) tall
N Thenurses ... peaches.
@run (b) eat () read (d) wash
B3 ... walletis this ? - It's mine.
(@)Whose (b) Who (c)How (d) Why
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M Choose the correct answer froma, b,cord:

« T —————
mé-
@865 ® 1.6
3 4
Bﬁ 7
@> =
2 23 oA o,
B7+7+7°
9 7
@ 57 3

3 The fraction that represents the coloured

parts »in the opposite figure is e

@}
©%

53 0.48is less than

@ 0.4

[ 80+7+0.4+0.002 =
@) 87.42

(b) 87.402
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80
marks
©1.65 @1.2
©< @z
1 2
©2+ @15
5
OF;
1
D5
©0.5 @ 0.09
(©) 87.042 @) 87.204
5 7
© 1% @13
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3 Choose the correct answer froma, b, cord:

ED Inthe digestive system,the is a sac-like muscular organ.
(@) stomach (b) esophagus
(c)trachea (d) pharynx
#2  _ makesthe clear limewater becomes turbid.
(@) Oxygen gas (b) Water vapour
(©) Nitrogen gas (d) Carbon dioxide gas
EJ} The length of the small intestine is about ... meters.

(@)seven (b ten (© four dtwo

K£3 Pharynx is the common organ between ............. systems.
(a) digestive and circulatory
(b) digestive and respiratory
(C) respiratory and circulatory

(d) respiratory and urinary
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oIl 4 @ nli 3 ¢dgol

A § e
M Choose the correct answer froma, b,cord: _
BN ... much arethese ?-They are 100 pounds.
(@)What (b) When (c)How (d)Who
A The candyisin........... three.
(@) book (b) mat (©)aisle (d) desk
EN There ... any wildlife.
@is (bisn't (C)are (d)aren't
3 A:Thankyou.B:You're. .. ...
(@ hot (b) welcome (c)cold (d) bored
El Webuy ... at the chemist’s.
(@) candy (b) tickets (c) cheese (d) medicine
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M Choose the correct answer froma, b,cord:

n 96 tenths —esia e e e

(@ 960 (b) 9.6 (c)0.96 (d) 0.096

12 o ..errecnsnepansnsnns
2

1 5 3 3

@3 O ©% @7
3 Bassem bought a pen for L.E. 4% and a ruler for L.E. 3%

»then what he paid = L.E. -+

@73 ®7% ©7% @7%
BN 2.5 ¢ oo 2.58

(@28 (b)2.18 (©)257 @27
3 The tenths digit in the number 81.43 is - ooooveeenes

@3 OK (©8 d 4
E 7 =7

@1 (b) 49 (© 14 d) 28

3 1_

53 2l =i

@3% ®473 ©3% @375
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3 Choose the correct answer froma, b, cord: e

BN To keep your respiratory system healthy, you must follow all the following pieces of

advice except ...

(a) avoid being in crowded places.
(b) keep off the severe cold.

(©) avoid being a passive smoker.

(d) avoid eating fruits rich in vitamin (C).

3 The total number of teeth in an adult person is equal to

@20 (b)32 (©18 d) 30
EX In the small intestine, the digested food is absorbed through small nipples

called .. ... .

(a)cilia. (b) villi.

(©) mucous layer. (d) blood capillaries.

I3 Burning of the digested food inside the body cells requires

(@) water vapour.

(b) carbon dioxide gas.

(©) oxygen gas.

(d) nitrogen gas.
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A s f,*
M Choose the correct answer froma, b, cord:
BN Thisismy wallet. It's ...
(@) his (b) mine () hers (d) yours
¥l Thegirlssitonthe ...
(@) cubs (b) bats (c) mats (d) cups
EJ A:Excuseme.Canyou .......... me?B:Sure.
(@) bake (b) help (©) pass (d) buy
3 Iwanttoclimbthe ... . .
(@) grass (b) river (c)sand (d) mountain
EN Reem ... have any make-up.
(@)doesn't (b) don't (©)isn't (d)aren't
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M Choose the correct answer froma, b, cord:

BN The place value of the digit 5 in the number 6.574 is -+

(@) units. (b) tenths.
(©) hundredths. (d) thousandths.
PP
(2] 11 L
@10 ®) 12 ©13 @14

EN The ascending order of the numbers 5.8 ;5.18 5, 0.58 55.08 is -+

(30.58 ,5.08 5.8 ,5.18 (6)5.8 ,5.18 ,5.08 ,0.58

(©0.58 ,5.08 ,5.18 ,5.8 d)5.8,5.08,0.58,5.18
3 7%4.5; il oA SRS

@7% ®8% ©83 @123
s DT —

2 0% o ok

. =7+02

@702 ®7.2 ©9.2 @99
%= ..........................

®73 % @sf  @o
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3 Choose the correct answer froma, b, cord:

BN In each jaw, teeth in adults are divided into ..
(@) four incisors, two canines and ten molars.
(b) two incisors, four canines and ten molars.
(©) ten incisors, four canines and four molars.

(@ four incisors, four canines and four molars.

#3 . isacommon organ between esophagus and trachea.

(@) Nose (b) Liver () Pharynx (d) Stomach

EJ The human respiratory system includes all the following organs except ...

(@) nose. ( lungs.
(O trachea. (d) esophagus.

I3 The process by which carbon dioxide gas and water vapour are expelled out of the
lungsis knownas ...

(@) exhalation. (b) inhalation. (c) digestion. (d) absorption.
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A § e
M Choose the correct answer froma, b,cord: _
BN Childreneatsome ...
(@) trees (b) ponds (c) sandwiches (d) boxes
#2 I donthave ... toothpaste.
@an (b) some (©a (d)any
E} Sherunsonthe ... :
(@) leash (b) witch (c) beach (d) peach
3 Thereis........ SNOW.
@ any ba (©an (d) some
E A:Whatis......... 7B :Ifeel sick.
(@)wrong (b) good (c) right (d) nice
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M Choose the correct answer froma, b,cord:

(@) 0.567 (0567 (©56.7 d) 5670

EJ} The digit which represents the hundredths in the number 4,673 is -+ vvveeenene.

@3 (4 ©6 @7
b w
oS-
7 10 15 11
@3 ® 2 21 Okry
EJ The number e is included between 0.5 and 0.54
(@045 (b)0.476 (©)0.539 (d)0.55
@2-->
@2 (b4 (©6 @10
1 1 1
E+§+I_
10 11 8 1
@4z Ok} ©73 D15
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40

M Choose the correct answer froma, b,cord: .
EB During ... process, the thoracic cavity enlarges and the air rich in oxygen

enters the lungs.

(@) inhalation (b) exhalation (©) digestion (d) absorption
2 The mouth cavity includes all the following organs except ... ...

y g org P
(@)tongue. (b) teeth. (¢)salivary glands.  (d) esophagus.

X Digestion of starch startsinthe ...

(@) esophagus. (b) mouth.
(c) stomach. (d) pharynx.

3 Clear limewater is used to detect the presenceof ...
(@) oxygen gas. (b) carbon dioxide gas.
(©) digested food. (d) water vapour.
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oihinl4w@ni

Science
1 2 3
a C Cc

duelld <l
O T S O ST R S o i
||| |22 ||l
English
1 2 3
a a c
ducloialdl Calwlyall
3 Y f \
= | =

Mathematics

(d)0.3=0.30,0.4=0.40
S0 ,0.30 < 0.39 < 0.40

5
Ee® § - £
53"
[4]1©
E1®
3[C)

[7](b) Since LLM. of 8 and 5is 40 » then

7_3-35_24 _ 11
40

PETER  Ulsciedl

23]l T2
English
1 2 3 5
a c a a
AQcloiall Slwljall
1 Y f \
o 1 - 3

Mathematics

6 x 2

ez 1512
70

29 40

%){% Since21<40 So>3 <3
BI@3+3+$-4-13
“1®
51©

19 askzillplscall g

(23
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(d) Since LCMof 6 and 121is 12 » then

{62 4.8 - 7
+12'1_*’1_ 12
Science
1 3
a d a

ducloiall Glwljall

Mathematics

O®

96 tenths = gg =96

21O

2 -
32 8
Sae

[3](@)Since LCM. of 2and 4 is 4 » then
1431=242431=-73
41+31=424+31=72

QEEIEEER  Ulsviedl

24

oihinl4w@ni

() 25=250 S0,25<257<258

HIC)

@@ x?"
/W
_ - 49
7= 7 7
N
(d)Since LC.M.of 4 and 6is 12 » then
3 1_-r9 2 _q7
Science
1 2 3 4
d c

dyp=Jl d Ul
Yo (R [ X | N | N0 |€ || T |
>l lile|2]2]] [ IR N
English
2 3 5
b 5 a
ducloiall clwlyall
£ Y il \
o o 4 L

Mathematics
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BlO©

5.8=5.80
So sthe orderis:0.58 +5.08 ,5.18 5.8

[4](d) Since LLM. of 2and 3is 6 » then
1451 =78 452 =195
71+51=72+52=125
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0.5=0.500 , 0.54 =0.540
So »0.539 is included between 0.5 and 0.54
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